8 / 6 5 4 3 c 1
Il Il Il v Il Il

m

i

NOTES: (UNLESS DTHERVISE SPECIFIED) REVISIONS

[ RATED DESTCN LOAD +46/=57 PSF, THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC, R [REV DESCRIPTION DATE [ APVL
3, SECTION HEIGHTS MAY VARY TO CREATE VARIDUS DOOR HEIGHTS, 24° MAXIMUM SECTION HEIGHT, P NV TRAVINC 5/28/8 | Ese
3. FOAMSTOP TR JAMB SEAL ON AL JAMBS REQUIRED T0 MEET NEGATIVE DESIGN PRESSURES,

4, TESTED IN ACCORDANCE WITH DADE CLUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94, 12 | A |ADDED IRC/IEC NOTE 8/26/20 1 1LC

9. DOOR SKIN MUST BE 30,000 PST MIN., YIELD STRENGTH.
6. JAMB LOAD CALCULATICNS:
(1/2 DOOR WIDTHX FT OF HEIGHT)CDESIGN PRESSURE)
(6.08)(1 FONTX46,00 AND -5200)(279.68/-31616) LB
7. JAMB FASTENER REQUIREMENTS:

Fy =/2 DOOR WIDTHX1 FT OF HEIGHTXDESIGN PRESSURE) M/I]AMSTI]P/ JAMB SEAL. MIN 7/16" THICK, NAILED EVERY 6" ON CENTER.

Fx =280 LBS,
8, DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, WITH BAKED-N PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT. £
9, FOR ANCHORING INTO WOODUSE ONE 5/16° LAG SCREW PER TRACK BRACKET WITH 1-1/2" EMBEDMENT INTO SDUTHERN PINE (G=055) IR BETTER jﬁ] m_
10, WELD SLOT ON ANGLE 3/32" X 1° LONG ON 12* CENTERS, ‘IF WELDING MOUNTING OPTION IS CHOSENS
1 LIFT UP MECHANISM-MANUAL, CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL. DOOR JAMB
12, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOV HEADROOM TRACK IS AVAILABLE. FOR LOV HEADRODM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET WITH A MIN OF SECTION B-B
(3 174 - 14 X 7/B" SELF DRILLING CRIWPTITE SCREWS IN LIFU OF THE BRACKET SHOWN ON DRAWING. U-BAR ON TOP SECTION SHALL BE INSTALLED ON TOP UF LHR TOP BRACKETS. SCALE 1112

ﬁ QHAEHCETRDURTSSI%&TI-LIDE? é/Eaﬁl[Aéﬁ/B’ SELF DRILLING CRIMPTITE SCREWS AT ALL HINGE LOCATIONS AND (@ BETWEEN EACH INTERMEDIATE HINGE.

19. IMPACT RESISTANT GLAZING CPTION- IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLED IN TOP OR INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4' POLYCARBONATE, FASTENED WITH # 8

X 1" SMS, SEE DETAIL F-F ON SHEET 2 FOR ASSEMBLY DETAILS. MAXIMUM OF ONE GLAZED SECTION.

16, THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE WITH

CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.

17, LOUVER DOPTION - LOUVERS MAY BE INSTALLED IN DOOR IF THE AREA OF EACH LOUVER DOES NOT EXCEED 60 IN% DOOR VENTS LARGER THAN 60 IN? MUST BE TESTED FOR IMPACT.

18, A 2-1/4" X 6-3/8" X 22 GA BACKER PLATE IS TO BE LOCATED AT EVERY CENTER HINGE AND 3 X 3-3/4" X 22 GA BACKER PLATE AT EACH END HINGE LOCATION. EACH IS ADHERED TO THE INTERIOR OF

| THE SECTION BACKER STEEL.

ES

ABLE IRUM SHAFT TORSION SPRING COUNTERBALANCE
JOINT SEAL / POLYAMIDE ACER STEEL HAVING A MINIMUM 26 GA 5/16 X 1-5/8' LAG SCREV -
T T A NN YIELD STREXGTH OIN'3 FLR FLAG AGLE - AT v
/POLYURETHAKE FOAH = D=’ 2 | 1003 SELF DRILLING SCREVS NOT = NDTCHED DOUBLE l
/ _—THERMAL BREAK = 2 = | 5] REQUIRED AT THESE END CAP FOR GLAZED T 5
- | P—BACKER STEEL HAVING MINIMUM 29 GA ~- 825 1 oy, LICATINS SECTIONS DNLY -\ T ™ 100
9,00 . THICKNESS LG ANLE // 17025 14165 i — == ‘I i
t, — —_— —_— —_——

— 1800 £03 13 GA | ,!r — — . g 130-
v | P13 NN RIZONTAL TRACK - . 5w e
., ' 15" MAX | - o L . Lol

080 £03 @ 1 |/_| ‘I}:Aﬁe% RXA & /IBEELIT gRgE OPTIONAL IMPACT GLAZING === — e —eereer (TOP ONLY)
—
C 90000 TYP, 174 - 20_STUDS, VITH E— END. HINGE | .
| 174 - 20 HEX NUTS 4 STRUT 1 PER SECTION = =
10 16 GA STIFFENEND Le" MAX X8 | — — )
2400 £03 JAMB  BRACKET—] ] 3 x 3-3/4" x 22 GA .
— , INTERNAL STEEL BACKER = - ,
SCALE 1+ 4 1/4 - 20 X 9/16" TRACK 12" MAX PLATE (EACH CORNER)  —— i .
BOLT AND 1/4 -20 HEX NUT ! \ , -
AT EACH JAMB BRACKET—"| 16 GAUGE ENDCAPS. (8" WIDE ~ ~ I
E 12" MAX X SECTION HEIGHT-125" HIGH) = = o
SECTION HEIGHT - 125" ———— EACH ENDCAP IS ATTACHED
j T THE DOOR SKIN WITH (@
SECTION A-A ENDCAP DETAIL I #10 SHEET METAL SCREWS _ _ -
1 _l [] ’
Le” NAX e Lok | — 16
=257 | - -
=3¢ OF \ ; S | ROLLER =—— : - : : : —
;-« MO -...:Eq® ". 3 TRACK 12 GA 12, MAX — — 121
s * " ¥ ) | BOTTON FIXTURE~_| )l
B LA SR 3. X ) f 0 ey 3" STRUT BOTTOM SECTION INLY . —T : g
$. J.C.VOELKEL /8 oy iom il - i
[) K by Pohn Christian , — T B "
'0'99'-.. 133174 S&Wristian Voplel 2-1/4" X 6-3/8" X 22 GA INTERNAL STEEL BACKER o . ——h Loy
W3« P R ‘% elkel 20009 JAMB BRACKET SPACING PLATE (EACH CENTER HINGE LOCATION) 122" MAX DOOR WIDTH AND 240" MAX DOOR HEIGHT WALL ANGLE ANCHIR SPACING
‘\\6:95; ......... < o 16p7:02-0500 UNLESS OTHERWISE SPECIFIED APPRIVAS DAL | 'Wayne
W(/ONAL ¥ THRD MILE PLECTIN INTERPRET DIVS. & TOLS TOLERANCES: TRAWN [, CONRAD __8/8/18] | Dalton.  PENSACOLA, FLORIDA
ANGLE PER ASME Y14.5M
EATHERSEAL £, TRACK - 15 G LL DIMS ARE IN Xz t03 APPROVED - — IDESCRIPTION
J. CHRISTIAN VOELKEL, PE o ASTRAGAL 3' TRACK - 12 GA ALL DIMS A XXX = 1] MATERIAL = WINDLOAD MODELS 4600/4650/6600/8300/
INCHES ANGULAR = £.5° - 8500/8650/5150/5200/ TM315/TMS25, +46/-52PSF
312 N, NEW VARRINGTON ROAD, UNIT 14 FINISH o
- PENSACILA. FL SECTION C-C SECTIN 1 A DIVISION OF DVERHEAD DO NOT SCALE HOLES: DADE COUNTY, 122" MAX WIDTH
FL PE 82299 1Y, PE 133174 SCALE L1 4 SCALE 1+ 4 DOOR CORP DIMS CIRCLED VITH SYMBOL * CINSPIBNY .o D291 = +004/-003 VINDLOAD SPECIFICATIIN  [SIZE[DVG NO. REV
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FIR oer S DS DRIVE, || CARC CRITICAL T0 GUALTTY pesio | 23 o = 103 LPTION CODE 231 D|  D-363474 A
' , FEATURES & MUST MEET APPLICABLE LR :
VERIFICATION OF WINDLOAD CONSTRUCTIIN DETAILLS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, (AL OELMETRY GOVERNED BY 5D CAD DATABASE: SCALE 112 | UDM = EA |SHEET 1 IF 4

[ 8 7 ' 6 T 5 L . 4 3 B !


chris
Texas


4 3

2

ﬁ?ﬁ” EDGE DISTANCE

3/8" X 3" LAG SCREW, WITH 1
1/8" WASHER, MAX, OF 24" [
MIN, 2-3/4" EDGE DISTANCE

e X6 #3SP 0
R B

ETTER—7

7 WOOD MOUNTED TO # 3 SOUTHERN PINE SUBSTRATE

2 X643 3P =039
OR BETTER

5/16" X 1-5/8" LAG SCREW

INTO MIN 2 X 6 # 3 SP (6=053)
OR BETTER. (SEE DOOR
ELEVATION ON SHEET 1 FIR
HOLE LOCATIONS—

16 GA JAMB
BRAEKET/////////

——2.9t1" EDGE DISTANCE

13 GA CONT,
WALL ANGLE—"

7

S TT——1/4-20 X 9/16"
TRACK BOLT AND
1/4-20 HEX NUT

MOUNTING TO WOOD
JAMB DETAIL

/DAYUGHT OPENING SEE TABLE

———1/4" POLYCARBUNATE

GLASS BITE 0 5”]

EXTERIOR FRAME
6063-T6 ALUMINOM —

DOOR SECTION
WINDOW DETAIL

SECTION F-F
SCALE 1+ 4

~_—INTERIOR FRAME 6063-T6 ALUMINUM
8 X 1" SHEETMETAL SCREW

TRACK CLIP —

—

MOUNTING 10 STEEL

JAMB

3/8" DIA, SIMPSON TITEN HD

7

/\

FASTENER, MAX. OF 18" 0.C, 2-3/4
MIN. EMBED INTO MIN. 1500 PST GROUT

FILLED CMU, MIN. 4" EDGE DISTANCE

1-1/8" DD, WASHER —

—4" EDGE DISTANCE

\8 X 6 # 3 SP (G=059) IR BEWER/

WOOD MOUNTED TO 2000 PST

WOOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETAIL

3/3 I-12

MIN 3/16" THICK STEEL
FOR MOUNTING

==——{PTIONAL: WALL ANGLE MAY BE
ATTACHED TO SUPPORTING STEEL
WITH MIN. (D 174 - 14 X 1" SELF
DRILLING SCREW WITH 1" 0D, WASHER,
IN LIEU OF WELDING. (SEE DOOR
ELCVATION ON SHEET 1 FOR HOLE
LOCATIONS)

DETAIL

CONCRETE DETAIL

ﬁﬂ EDGE DISTANCE

——3" EDGE DISTANCE

——3/8" DIA, SIMPSON TITEN HD FASTENER, MAX. OF

24" 0L, 2-3/4" MIN, EMBED INTO MIN, 2000 PSI
CONCRETE, MIN. 3" EDGE DISTANCE

7

¢ ANCHOR OPTIONS;

1) 3/8" DIA. SIMPSON TITEN HD
FASTENER, 2-3/4° MIN, EMBED INTO MIN.
1500 PST GROUT FILLED CMU, MIN. 4/
EDGE DISTANCE

/\

2) 3/8" DIA HILTI KWIK BDU 3,

ANCHIR
1" 0.D. WASHER

MOUNTING TO GROUT FILLED MASONRY

EXPANSIDN ANCHOR, 2-1/2" MIN. EMBED,

N 4" EDGE DISTANCE

*(SEE DUOR ELEVATION ON
SHEET 1 FOR HOLE LOCATIONS)

[ 0.D. WASHER

BLOCK DETAIL

SECTION E-E
SCALE 1+ 4

INTERNAL STEEL BACKER
PLATE ADHERED TO INTERIOR
OF THE SECTION BACKER

STEEL —

ANCHIR

MOUNTING TO 2000 PSI

CONCRETE DETAIL

INTERNAL STEFL BACKER
PLATE ADHERED TO INTERIOR

PUSH NUT OF THE SECTION BACKER
STEEL

7/16" DIA STEMS TOP
AND BOTTOM ROLLERS

[N

J GA ROLLER SLIDE ATTACHED
10 TOP FIXTURE WITH 5/16" - 18
BOLT AND NUT IN CENTER SLOT

TOP FIXTURE "L* REINFORCING
ANGLE BRACKET

TT—1-1/8* DD VASHER

“—EDGE DISTANCE
J ANCHOR OPTIONS;

1) 3/8" DIA, SIMPSON TITEN HD FASTENER, 2-3/4
MIN._ EMBED INTO MIN. 2000 PSI CONCRETE, MIN.

3" EDGE DISTANCE

) 3/8" DIA HILTE KWIK BOLT 3, EXPANSION
ANCHOR, 2-1/2" MIN, EMBED, MIN. 4" EDGE
DISTANCE

3) 3/8" DIA POWER LOK/BOLT, EXPANSION
ANCHOR, 1-5/8" MIN, EMBED, MIN. 4" EDGE
DISTANCE

x(SEE DOOR ELEVATION DN
SHEET 1 FUR HOLE LOCATIONS)

IDE BDDY END HINGES.

Mo
=
=
=
=

ATTACHED WITH (6) 1/4-14%7/8
SELF DRILLING CRIMPTITE SCREWS
(@) OF WHICH ARE IN-BOARD

¢* R 3" RULLER WITH 7/16" DIA. 1144 WL |
PUSH NUT AT EACH ROLLER LOCATIEN,

1/4" MAX BETWEEN PUSH NUT AND
BRACKET DR HINGE

DETALL W DETAIL T
SCALE 1+ 4 13 GA BOTTOM FIXTURE SCALE 14
7 ATTACHED T0 SECTION WITH
(4) SCREWS 1/4 - 14 X 7/8" SELF
gﬁk%%NiaHEL%%$TEﬁ%E%ERIDR DRILLING CRIMPTITE SCREWS.
NN 12 GA EXTENSION BRACKET ATTACHED
- E\OF\T‘\\\ INTERNAL STEEL BACKER O THE SECTION BACKER WITH (3) 1/4 - 14 X 7/8" SELF DRILLING
:,\\é 54'4\ PLATE ADHERED 10 INTERIOR STEEL CRIMPTITE SCREWS (2) OF WHICH ARE
;g ._." "-,..S" ' OF THE SECTION BACKER USED TO ATTACHED STRUT
Fxs * " * 0, STEEL
’f * 5 S * 'l
g J. C. VOELKEL 7 PUSH NUT
4o 133174 o J 14 GA CENTER HINGE ATTACHED \WEMHERSEAL
. ', " e WITH (4) 1/4 -14X 7/8" SELF DAL € (ASTRAGAL)
W '--"CENS?«?"'\é": DRILLING CRINPTITE SCREWS SCHE 1 4
‘\\ slaﬁ);['eﬁ?,-' UNLESS OTHERWISE SPECIFIED APPROVALS _ DATE
\ A THERD AVGLE FROLECTION INTERPRET DINS & TOLS TOLERANCES: TRAWN [, CONRAD __ 8/08/18 PENSACOLA, FLORIDA
‘<§E>‘*EEEE¥ PER ASNE Y14.5M X =t CHECKED 0. KORNISH -
‘ X0 =103 APPROVED - - DESCRIPHDN
J. CHRISTIAN VOFLKEL, PE ALL %IN%SHEQRE N X0 = 01 MATERIAL - WINDLDAD MODELS 4600/4650/6600/8300/
DETAIL J ANGULAR = £.5° - 8900/8630/3150/5200/TM315/TM329, +46/-32PSF
e B@ﬁﬁi@ﬁ[25 ﬁEAD‘ o o ' DIVIS%HHRDEDE¥ERHEAD R o ¢ 0231 = +.004/-003 — WINDLOAD SPECIFICATION — [SIZE DWGDARE[IMNTY B REV
DIMS CIRCLED WITH SYMBOL ' <INSP-IBN N
L PLgeeey TP L 09 ADISOLDRIVE | ARE CRITICAL T0 GUALTTY esto | 023200 = 1408 03 OPTION CODE 2311 D D-363474 ’
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR , FEATURES & MUST MEET APPLICABLE =
VERIFICATION OF WINDLOAD CONSTRUCTION DETALLS, (80)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL GEDMETRY GOVERNED B30 LA TATARESE SIALE | \ UDM = EA \SHEET 2 [F 4
8 T 7 6 5

.

ENG F.20.041D-(FORM REV A

.T

4 ‘ 3

2

1


chris
Texas


8
1

NOTES: (UNLESS OTHERWISE SPECIFIED)

WITH 1/4-14X7/8" SELF IRILLING CRIMPTITE SCREWS,

LONE 4" STRUT PER SECTION, AND ONE 3* STRUTPER BOTTOM SECTION, ATTACHED

TRACK

1/4"-20 TRACK
OR_CARRIAGE BOLT
WITH 1/4"-20 NUT

|
.
da
A
U

16 GA STIFFENEND
JAMB BRACKET

TYPICAL TRACK AND JAMB
FASTENERS DETAIL

13 GA MIN
CONTINUCUS
WALL ANGLE\

11 GA MIN TRACK

CLIP SEE
SCHEDULE

(@) 1/4" X /16 SEMI
TUBULAR  RIVETS

TRACK

1/4"-20 TRACK
R CARRIAGE BOLT
WITH 1/4"=20 NUT

TYPICAL TRACK CLIP

RIVETING DETAIL

13 GA MIN Tl
CONTINUDUS °
WALL ANGLE D

(]
Qo
(¢}
(@) 1/4-20x9/16" D
TRACK BOLT AND
1/4-20 HEX NUT | AL

TYPICAL TRACK CLIP

BOLTING DETAIL

5 DOOR HEIGHT

STANDARD LIFT
TRACK DETAIL

DOOR HEIGHT

TRACK DETAIL

SCALE 1+ 12

* J. CHRISTIAN VOELKEL, PE
312 N NEW WARRINGTON ROAD, UNIT 1A
PENSACOLA, FL
FL PE 82229 TX PE 133174

PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FIR
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS.

LOW_HEADROOM
TRACK DETAIL

DOOR HEIGHT

OPTIONAL WALL ANGLE TRACK

DOOR HEIGHT

VERTICAL LIFT
TRACK DETAIL

(12) SECTION DUORS WITH

(12) 4" 18 A 80 KSI U- BARS
(1) 3" 20 GA 80 KST U- BARS
LOCATED AS SHOWN

>

T
ENG FR0.0410-(FTRM REV A)

(1) SECTION DOORS WITH N
(1) 418 A 80 KSI U- BARS
13 GA MIN () 3" 20 GA 80 KSI U- BARS
TRACK CONTINUOUS J TRACK LOCATED AS SHOWN <
WALL ANGLE o
1 Gh MIN TRACK L e (10) SECTION DOORS WITH
CLIP SEE SCHEDULE E gEé%CﬁHﬁtE (10> 4" 18 Gh 80 KSI U- BARS
(0 1/4-2) TRACK N i ('3 20 GA 80 KST U- BARS
LOCATED AS SHOWN
OR_CARRIAGE BOLT Ao e ek N
WITH 174"-20 NUT ° (9) SECTION DOCRS WITH 2
RSV = 7~ | @Wﬁﬁ% BNDH (9) 47 18 GA 80 KSI U~ BARS
() 3 20 GA 80 KSI U- BARS
LOCATED AS SHOWN <
TYPICAL TRACK CLIP %
TWELDING DETAIL (8) SECTION DOORS WITH
(8) 4718 GA 80 KSI U- BARS
(D 3" 20 GA 80 KSI U- BARS
LOCATED AS SHIW |
(7 SECTION DOORS WITH = =
(7) 4718 GA 80 KSI U- BARS
() 3" 20 GA 80 KST U- BARS
LOCATED AS SHOWN — ~_
(6) SECTION DOORS WITH 4 %
(6) 4718 GA 8) KSI U- BARS
(D 3" 20 GA 80 KSI U- BARS
LOCATED A4S SHOWN <
(5) SECTION DOORS WITH = 1= E
(5) 418 GA 80 KSI U- BARS
() 3" 20 GA 80 KSI U- BARS
LOCATED A5 SHOWN < ‘ ‘ ‘ ‘
(4) SECTION DOCRS WITH = = = =
(4) 1718 GA 80 KSI U- BARS
(1) 3 20 GA 80 KSI U- BARS
LOCATED A4S SHOWN ~ ~_
= = = = =
[ ———4 STRUT OVERLAPS HINGES, ATTACHED
WITH (@) 174-14x7/8" SELF DRILLING
CRIMPTITE SCREWS AT FACH HINGE B, 18 b i3 %
LOCATION AND (2) BETWEEN EACH -
CENTER HINGE FOR EACH STRUT
DETAIL N
SCALE 1+ 4
B OB B b, 2
* STRUT ATTACHED WITH (2) 1/4-14x7/8" b b b b b
Lich HAGE LCATION D &) BTt
EACH CENTER HINGE FOR EACH STRUT = E = By =
¥k 3 3 2
STRUT LOCATIONS
SCALE 1:20
UNLESS OTHERWISE SPECIFIED APPROVALS TATE
THRD MG.E PROECTIN TOLERANCES: DRAWN F. CONRAD__8/08/18 PENSACLLA, FLORIDA
INTEPREPRREATSMDEIMYS mms R Sk R
ALL DINS ARE IN K =103 APPRIVED - =~ DESCRIPTIIN
=0 MATERIAL - WINDLOAD MODELS 4600/4650/6600/8300/
INCHES ANGULAR = +5° AT - 8500/8650/5150/5200/ TMS15/ TMG2S, +46/-52PSF
A DIVISIIN OF DVERHEAD DO NOT SCALE HOLES: e 000 DADE COUNTY, 122 MAX WIDTH
DOOR CORP DIMS CIRCLED WITH SYMBOL * (INSP-IRND : + WINDLOAD SPECIFICATION SIZE|DWG  NO. REV
op 308 ADUSIN [RIVE. | ARE CRITICAL 10 UALITY DESTN N T OPTION CODE 2311 D D-363474 )
, FEATURES & MUST MEET APPLICABLE
(850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |ALL OEOMETRY GOVERNED BY 3D LAD DATABASE: SCALE 142 | UDM = EA | SHEET 3 OF 4

5 f

4 ‘ 3

2

1


chris
Texas


8 7 6 S 4 3 2 1

NDTES: (UNLESS DTHERWISE SPECIFIED)
L FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.
JM R - LENGTH = DOOR WIDTH -1
2750 | .
Tgm r e rj B 1,800 L Lo T '®'ﬂ'® — LENGTH = DO VIDTH -1 — 2000 i
IBRE e 219 e = 5498 | o & L B L 2375
3675 | I L 0 2250 4000 — i —t
& 0 & —
| e e 1250 U | = 06
—ospp — s 034 THICK
TOP_FIXTURE _ASSY. BASE, T0P FIXTURE 'L* REINFORCING ANGLE BRACKET RDLLE% CARRIER LR g0 4 STRUT <UBAR) 3 STRUT OPEN WL (UBAR)
—— S B KSI MIN. YTELD STRENGTH, 4° X 18 GA 80 KSI WIN VIELD STRENGIH, 37 X 20 GA
TOP_FIXTURE DETAILS STRUT DETAILS
— H3° — 3152
SECURED WITH (4) 605879-0002 SCREWS 1/4-20 X 5/8"
N ] ] / 2.34 THROW
0 ﬁm
8215 0 | 55l ! I o+
, 0, 238 e 73u 7380 4188
[© O@H - J_<!OOOO 1 ,
@D ooy - JVMU 1 7 109 1000 X 150" THICK
N 750
0 Lo ot SIDE_LOCK_ ASSY *
BOTTOM FIXTURE, BB-12 BRACKET, TOP RES, LHR
13 GA 7 oA 14 Gh 13 Gh
#1 END HINGE / CENTER HINGE END HINGES
BOTTOM FIXTURE DETALLS L0CK DETALLS
HINGE DETAILS -
2X 913 ?Uo ¢
s}
= | —
f%eo REF, —— f L | 9 REF, | 1730
4437 1 5437 REF, 1 9360 REF 6,473 RIT, W REF U B
of | 1811 REF. = o | 1811 REF = u@ 2.833 REF, T
W N 940 =
“"\;\o\l?\r\“\ ‘4604 ~NYLON TIRE w— R VIEEL IR - J 2X 931
S e T " ROLLER Asst, o i 114 ROLLER ASSY. 2 VL 1144 W
2o UM N (NYLON ROLLERY R ROLLER ASSY. 3 WL 1144
’ * I.. ‘.. * ' -
2 *. S JAMB_BRACKET o
3 LA W 2 x4 16 0 — L
4 J.C.VOELKEL 4 = _|lo|
"..... ......................... ’ 4006 — T ‘1358189
% ‘o 1,
N l"%'._.. <1 331 7% (é}"/ ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG ANCLE -
'|°A6;-.,{?ENS?;,.-'\$:
WSSy g ONLESS OTHERVISE SPECIFIED APPROVALS _ TATE
\W\\(ONAL & THRD MLE FRECTON INTERPRET DINS. & T0LS TOLERANCES: TRAWN F_CONRAD _ 8/08/18 PENSACOLA, FLORIDA
i &= T
Xoo=t DESCRIPTION
J. CHRISTIAN VOELKEL, PE ALL DIMS ARE IN X0 = 01 MATERIAL WINDLLAD MODELS 4600/4650/6600/8300/
312 N NEW WARRINGTON ROAD, UNIT 14 [NCHES ANGULAR = £ 5° AT BS00/8650/5150/ 5201/ THSIS/ THS25, +46/-52PST
PENSACOLA, FL A DIVISION OF DVERHEAD DO NOT SCALE HOLES: CBE5L = 004003 D ST ST DANDDE COUNTY, 122" MAX WIDTH o=
L fee R 3305 MNISI DRV 08 CRITICAL 10 GUALTY DEsTOy | 0251-0300 = +(e/-00; OPTION CODE 2311 ] D-363474 !
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE > 000~ +008/ 003
VERIFICATION OF WINDLDAD CONSTRUCTION DETAILS, (850)-474-9890 IN-PROCESS INSPECTION STANDARDS, |AEL GEMETRY GUVERNED BY 31 CAD DATABASL: SCALE 112 | uoM = TSHEET 4 OF 4

‘ 7 6 5 t 4 ‘ 3 2 ‘ 1
NG F o0 AII=(ETRM REY A

>


chris
Texas


		2020-09-09T16:37:02-0500
	John Christian Voelkel




